Cumulative Algebra Review- Chapter 02

Algebra 2H

All work is to be neatly shown on a separate piece of paper. Please write and box your answer, including the multiple choice answer letter. This is due the school day after the chapter test. It may be graded on both completeness and correctness.

1. If the greatest possible distance between two points in a rectangular solid is 12, then which of the following could be the dimensions of this solid?
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2. Runner A travels a feet every minute. Runner B travels b feet every second. In one hour, Runner A travels how much further than Runner B, in feet?
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3. In order to disprove the hypothesis "No number divisible by 5 is less than 5," it would be necessary to

(A) prove the statement false for all numbers divisible by 5

(B) demonstrate that numbers greater than 5 are often divisible by 5

(C) indicate that infinitely many numbers greater than 5 are divisible by 5

(D) supply one case in which a number divisible by 5 is less than 5

(E) show that a statement true of numbers greater than 5 is also true of numbers less than 5                                                                                            
4. 
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(A) 1.00

(B) 1.90

(C) 2.19

(D) 3.62

(E) 5.00

5. If 3, 5, 8.333, and 13.889 are the first four terms of a sequence, then which of the following could define that sequence?
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Written Response Question

A complete response requires the following:

· Express your thinking in words

· Label any figures you draw

· Identify any formulas used

· Make clear the source of numbers used

Full credit will not be earned if your work cannot clearly be followed. The final answer is important, but meaningless if you cannot show somebody how to get it.

----------------------------------------------------------------

Matt says that if a and b are any positive numbers, then 
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a. Choose three specific pairs of numbers to test Matt's statement.

b. Suppose 
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. Use algebra to determine what this implies about the value of a or b.
c. Based on what you discovered in part b, what can you determine about Matt's initial assumption about a and b?


d. For any triangle, the sum of the smaller two sides must be greater than the length of the third side. Using the given triangle, determine if Matt's statement is true or false.
a





b





c
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